L3 Hamon sotion maths: Solukiony aux ecraces (pélection)

£4.2 T Sm L= NS (gt (P'o”‘“d"""
Tor £ thomels 9w 289= {1-g" (ot / hppottinum)
Lo domEe  $xmd9= LimIcnd eutrals ales g
70 = 2y i = 4=2p = y=\2

/g=§'é 2 .!'{'-C’(A'ci-A JCer ,O‘aurrk Wok-l An l"n'owvh ]'ed—m&-l -eaf~ algvd 28)

A

cnlE . On aggAR qpt Pa @uﬂd“’m I

2
Cos (I0) = o (uin)= G2 —deid =D an AT = aoLTr—mf L_2._4
3 3 4’ G —2':
cry T CrTi= G-l 0-4 =-4
L. 5T ao(TH+ Tz ol —TAL = —4 el —0
. _— - ] - -— b - = - —_— = - ‘
G 2 Z) % « 5 0% =
T=0)
QT = 0 = Lo G
o FE G T )= T .
< T o (27- T)= on “[’%)—Mt/'w(*ﬂ): ixwﬁ—o(w—&@uy
= A
=

BT 0T = T =G = 40> 4 | codT= cn'2T-mi2T= 4
a\@lww C&:Col)-; () , Pov recuntact  on b gt
o hTzd oF & fa plre fagm Fe2bT=0
Puo col(Or LT) = Cod a2t —pmd P20 = awOrd — — rmOr 0
= coa®
Mo fpt fm (O 2pT) =fin &

) cw?s f‘?ao’»*:2=0
Cr n= ox:  Qyt-5y +270 & Qy—)(¢—2)=0
y= 2 g e, co lesd)l = 4 q;.»'(q,u( &k &
dx y-1=0 = =3 =D owx=g D x-‘” ow X= —
(So{“h‘“ 3"/“""“ x= 3&— 2k, h M'“..,-)

-~
3



¢

a) Wvee c2 choax & ('
07 + G2 + (2 = (OR- B4 (@8 ~08) + (6¢-S0)
- SR +6R+0C -3 0G = O .
b) (e rilkisn do BC ool deud o T oo OF =% (68 «38)
Moo AT = OF - 6k = $(6B+OC) - Gk
=4 (OF <08 +62) ~ 358

C) L o orr A e par Qo 0N e A omed. Qu\wqp.\ G
Por WAQpL 297 buw Jofwa N powwl g Lo e widiamao
CoV concoamas  Om P Q -

Vv P
i (}Z/_”(_.B- T >'% sob W Lo hawkenr
Qlkéﬂ“"d/ d’/&n’rt 2 {'W
Mkt PELEE:  ecollG dgus gt R
~ -~ vone Lo o s Iy
\)[W dM )\i ek WM _‘)‘9"‘\—9‘”’5 Sow W
- W 20° an dedsus,  Sak seAp—colou o
ot L alessr A poescr—t~—topgarts v/ La (oo
Fom30% 2 22 o fowio®= W% Z (o

o S
/Qdﬂw, i N 2 et

\g 1 = L
)= ﬂ. h/)’g V]
hsbome = ntente Fempe D h= 1200 4

U\/17/"‘\‘2("”'1/ —D x= et V-
= = v=new
vz v B S mnimn GAG fun(hr



e

VD' Co depod & lo totakim Lo gn SoF v 2 regon
de La sphée. S on mamtient Oz aotaim a4k o pow
Loy O\M& Sowr- tondus au  Cebr 2 da SQM\-—A‘)MM Qa
Qwaum,« 4o~ cbfey K (’n‘Mou SQLR VPt Lean o anus—
i“’a, B S ol S, 2 Yo

N

p =
(_4/ P o

WDomo colle ok obvn ﬂ—ﬂg{c Jo
fes G Qa\,}; Ovec  Coordourtdo Code alomess

(O/O/r) , (P ame, O, r'ouc)) (P tmbCod, PINE dwid, 0 caul) reag,

Dgaw go: OF-0C = Prowa CIMM&., e
( ¥ s Omglh Bl Qi)
5 -
el ?w{/ O?-Z)‘ af = pv (J’W\QJ’N\—cuo( A T ca )
mﬂw

ol Po Wi le W/- " AT
Wrr_coket S on :zoa“ﬂ:ﬁ %a QJ\IIGZZJ cines afus Ha qudxa;ddmwawh’eg@gtw
a) Oa et Lo pat C o
G«"S(! Aord\ (lgf‘lmtou JG,.MU-_
Via f’ﬁ'ﬂuﬁgd_
(PO\r Qa »QJZ: e, CoZf
CrRC = o cxhr +omadmb and
a} Y= ngz"Co-J
b'-’—'&l b a = &n,

on & er fa clahitudr L A
oF Ov ar Zu  ceditygs LoV

OV\ vew’ Calades ¢ -
ChC= CREr cad + D WO, cos A
MObfa \,:F‘I'&,) \,_::"t:g, O, = Cbgf-’ Oog_-‘\l)z' Fry (M fPour

> * — a Jrmpt
Sw—&, = }W“(I:")"): W%ao>~| Z b M{,. HAos Wﬂ)

= AO": C= amff/fi(}m)ﬂ Srvane -l"C"D)\\C"’}ﬂ- C"-\Ace

&) @W% Pa splive e e e *5 fa disbones #EgBogm €mltre
Ao B 2 P xNo (wr q)wuf'.?f;\ﬂh) [@"



8

A
Or  ogypigpe Za %J““‘?E\

Acp= Qqo°
o 13 GoA0°= Oo i T |
p - /3 Wz 22?30 Jw 3077 pm b=
) _:;‘//360 jong l = ..L
(50 ’, S, As améfé) arcaat
i
Hpg= 1-%Ex €€

- 8435,7 kns.
g\ et S L p@m o ratfale:

m q)arc:rwy WA Quart” M Cesell
Ao ro)m 640D x oo30® 6GU0was 3o
z €¢P ¥ A 5662,56
{ 1 ( —~ T
Ao & ag = ‘)’ffrljvéx_i ~ Q}Ot")y'hw [@(Mm /Qwa)
Bhet g AR sisd” & & Ddifide N febla g dhg=dpg, VI
[ouy g G400 ¥ aex x T = g
=Nz &¢351

g 8
Ve &2~ OYG
cgoo T

= N\ = acen 0,84 ~ DF 33°.

Y @Nr(MQ et Lomdres oF Naw Yot On  agelag 2a gpesfien Vin\
At = \D°40' + F¢°0r'| = F2° &’

Forwte:  ditlowe = 6400 ¥ arccﬂ(yy;\ 51930 pun 40° 43"+ 0 550 ot 43’ Gy 13751
113
dar

fems
v WW w (e Cakculabres *

G40 ¥ axon (0,39x 0,64

+ 0-63x OF++ 0,24

6o < amen (0,5 + On¢) = G4 varom (0,669 nv ECRD b
(O\(MWS Moatemer ¢ 5537F bns )

Do pAm M calawr dyo o dpe

3
Vo caterer Lo omalr 0n oyphigm tn £ b
A2, C.WMUBO( Yb’ %?:: C v‘? ¢
Alse 0= ABC @y ;6= CAC ma, oo d
[y G e TR
At Comns. PR T CPA —cmlrer-e — 3 .
T e —  Pert= 6Gae (4+p 4 ™)




